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FACULTY OF SOCIAL SCIENCES
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ECONOMICS

Paper IV
(Economy of Maharashtra)
(MCQ + Theory)

(Tuesday, 9-4-2019) Time : 10.00 a.m. to 12.00 noon
Time—2 Hours Maximum Marks—40
N.B. .— (@) Attempt All questions.

(i1) All questions carry equal marks.

(iit) Wrong answers of MCQ’s will carry equal marks.

@) §E YA HEdn

(i) W|E JAA HAE O ST

(tii) ~SEUAET YT Yool SUE BUNCHe 9T 37T

MCQ 10
1. Attempt the following multiple choice questions :

Tl Jgaart Ued diean
(1) Which of the following is not the problem of Rail Transport ?

(A)  Lack of modern technology

(B)  Fuel problem

(C)  Passengers without ticket

(D)  Abundance of waggons

TIeTaeh! IV (6d ATEqehiel 9T @ ?
(A) oMY THAAEET 19

(B)  3EF WEEA

(C)  for1 faste yardt

(D) SEitof fagerd

P.T.O.
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Match Group ‘A’ with Group ‘B’ and select the correct answer from the

codes given below :

Group ‘A’ Group ‘B’
(@)  Less productivity (@) Use of HYVP seeds
(b)  More population (1) ~ Attraction of urban life
(c) Migration of population (izi) High birth rate
(d)  Green Revolution (tv)  Lack of capital
Codes :

(@ B () (d
A @) @ Gv) @
B) @ @) G @
© @ @ (i) ()
D @ @v) @) ()
et feetean e ‘a1’ snf e ‘9’ weite e Segad SUUEl Ard Hehdidh
IRESIEE

RICHREC e ‘a’
(@)  HH IUCH (@) ~ HYVP foammen st
(b) At AemEE (i) A SEAT SRy
()~ TArhEEId TR (i) ST SR
(d) & I (jv) VAT HEA
Hehdieh :

@ b)) (e
A @) @ Gv) @
B)  Guv) @) G @
© @ O @) ()
D @ @v) @) @)
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Which type of guage has the widest guage of Rail Transport ?

(A) Narrow guage (B) Meter guage
(C) Broad guage (D) All of these
Y TeqEE Wald ¥T Yod W YHR S 2
&) T B) e T

(C) e (D) TRt &

Which is the objective of SEZ :

(A)  Generation of additional economic activity
(B)  Creation of employment opportunities

(C)  Development of Infrastructural facilities
(D)  All of the above

fove erf¥e eE e wivm ?

(A)  Ffafe stedicarer= |rem o s

(B) US|t o o6

(C)  Urnyd gfagen fasms

(D) =t wd

Population living per square km is called as :

(A)  Density of population (B) Sex ratio

(C)  Death ratio (D)  Proportion of population
o IRE fREH. O TEUTE Sl WO .

(A) ArREEIEl T B) fom =

C) AR (D) HTEA FE

B3E99BE094CFCESEGA 043B84E98AAS9A

P.T.O.



WT

(6)

(7

8)

( 4 ) AH—388—2019
Which one of the following is the target of Maharashtra State Industrial
Policy, 2013 ?
(A) Creation of 29 lakhs new employment
(B)  Creation of 15 lakhs new employment
(C)  Creation of 20 lakhs new employment
(D)  Creation of 5 lakhs new employment
TeAeteh! hIvd TERTSE TSF MENfieh &Rl 2013 9 &l o8 ?
(A) 29 @@ F&E TR o &
(B) 15 @M@ A ISR fHOT Hm
(C) 20 @M@ JaA ISFR fHior o
D) 5 @@ F6 IR o S
Who appoints the chairman of Statutory Development Board ?
(A)  Chief Minister
(B)  Governor
(C)  Chief Judge of the High Court

(D)  Finance Minister

Sy oo Hear=Al ST HUE IV L ?

(A)  geIHst
(B)  TSTUrA
(C) T <EeEE & =R
(D) sdwh

What is the name of International Port of Mumbai ?
(A)  Jawaharlal Nehru Port Trust

(B)  Indira Gandhi Port Trust

(C)  Rajiv Gandhi Port Trust

(D)  Mumbai Port Trust

Hog defid ST e A1d & ?

(A) SEEAE TEE e IR

(B) sfew we 9 =

(C) TStg e U T

(D) He U &=
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9) Find out the odd factor :
(A)  Seeds (B) Wheat
(C) Insecticides (D)  Fertilizers
JTEY TH TN :
(A)  feEm (B) g
(C)  feheshmere D) T
(10) As per the census of 2011, literacy rate is minimum in ...........c....cc....
district.
(A) Nandurbar (B)  Osmanabad
(C)  Gadchiroli (D)  Jalna
2011 =1 SIVAIER Falfd HHl e g8 STEum fegr o B 3Me.
(A)  FgER (B) SEIMER
(C) et (D) e
Theory

What is migration ? State the causes of rural migration in Maharashtra. 10

AR TGS HE 7 HERISIAil U0 A=l Rl 9.
Or
(fenam)
Explain the merits and demerits of Green Revolution in Maharashtra.

TERTTE Bd i T[O-G1e T .

State the structure and functions of Marathwada Statutory Development

Board. 10
TIeare] duifeh fosr Aeere WA onfor & |
Or
(fenam)

Discuss the nature and problems of road transport in Maharashtra.

TERI T aMeqehia @&y Tl g9er= == &

P.T.O.
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4, Write short notes on (any fwo) : 10
@) Sex ratio
(@) Land reforms
@ii) SEZ
(tv)  Regional imbalance in Maharashtra.

dreed S foel (Sl )

@) o o
Gi) M gEwRon
Gii) o=

((v) HENSLA Jef¥eh STEHda.
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